Jyis s

w
e
w

K

434E

1901 Jlo = J510 L galh oyl i )15 (50 590 (59939 9903 T

R0l R R R R RRARRa R R e R R R R R R R R R R R R

€ oo Mol CSllow 39 ZMol 8L ST

- \,
Al ;W e ’v (8)) shans plol
VR AYIYA \NA

Ol gedbwl (&9t
52308 5 Clida pole o yls
2945 hjgel hacw plejlw

e

(‘0 of u5) S juold o PR T

e

(150 8 5Locds g lad o loxiel dlge Jgazr

AR R R e e R R e R R e R R R A R R R AR R

Sadli | S3Gub 3 | g st Sloxiol slge s,
LE ! i (eadS) paari g goz0e L) \
A 8! Y. o v
A 1 v S v
0 A) v ol owliicdl | ¥
Y- a0 Y. ewlbadly | 8
( 318 Bieo &y ygmmn 3 3] ) (t...uuud jloes il paiblo n.:Lé:u.ul)

g b3 SN gho g MilRGe 1 g i oo il sl 11 3900 L g B 5 AR ol 40 (5t 403003 T B0 3 o (omep (S0 ASIT) iy 120 0 ST JLH g i it o




Y axiw 434E (18P 05) S juold bl

ol (39031 Aaadsr 30 (bl jgua 3 Cund Ao dr oy )0l 50 Lasl g wiliasuiue (40 455 0yl ¢ o0l )5 ooliio

[P TES RCT - POV PRSP Ry P E g | I R — 310 85l b il |
CJ‘:‘ J).uf oy ] &34 .LhJ‘B.uu d..‘a-).d.h C] d..DLIC.A.UL’ tSYL’ GLn.ub 4 .)3)3 n_i)Lf 6Yb ).b C)..L..n ‘:.Uosb oJLn...o lJ
mileson 9l 1y plasbzenly (ol 5 W lgw 2 183 g3 p oud

HgelSl) (v 3 o308 U

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

7.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseecable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and bhegan to take counseling.

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) veritied

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) -----m--- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) ---------- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) tor 3) by 4) In
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) is the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

In aquatic animals as piscine, the cytoplasmic granules of neutrophils contain
myeloperoxidase which in the presence of halide and hydrogen peroxide kills bacteria
by halogenation of the bacterial cell wall. Moreover, these cells have lysozymes and
other hydrolytic enzymes in their lysosomes. Investigations on the skin and cutaneous
secretions in aquatics have demonstrated an important role for this system in host
defense against viruses and bacteria.

Such peptides also have been found in the mucus, liver and gill tissue of boney
fishes. These low molecular weight polypeptides have the ability to break down
bacterial walls. Also, macrophages can produce nitric oxide in mammalian animals
and can be as potent as antibacterial agents, hydroxyl groups and peroxy nitrites.
Phagocytosis is one of the most important processes in poikilothermic animals because
it is the process that is least influenced by temperature. The main cells involved in
phagocytosis in aquatics are neutrophils and macrophages. These cells remove bacteria
mainly by the production of reactive oxygen species during a respiratory burst.
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16-

18-

19-

20-

21-

Beside the macrophages, which defensive cells are mainly involved in phagocytosis?

1) Basophils 2) Neutrophils 3) Monocytes 4) Eosinophils

At the beginning of the second paragraph, what does the phrase «such peptides» refers
[(EEEEEEEEEE .

1) all secretory cells 2) peptides of aquatics

3) secretions of epidermis 4) peptides of bacteria and viruses

The term «poikilothermic» for some animals mentioned in the text, is being defined
for ---------- .

1) cold-blooded animals 2) isothermal animals

3) mammalian animals 4) warm-blooded animals

Macrophages in terrestrial animals contain all of the following chemicals EXCEPT---------- i
1) nitric oxide 2) proxy nitrites

3) hydroxyl groups 4) acid hyaloronidase

The best title for this passage is ---------- ‘

1) Antimicrobial Agents 2) Poikilothermic Animals

3) Secretions of Integument 4) Macrophages and Neutrophils
PASSAGE 2:

Towards the end of the fourth week of embryonic development, the stomach begins to
differentiate from the primitive foregut, a midline tube, separated from the developing
pericardium by the septum transversum and dorsally to the aorta.

Initially a fusiform dilation forms, beyond which the midgut opens into the yolk
sac. The foregut, owing to the presence of the pleuroperitoneal canals on side, is
connected to the dorsal wall by a mesentery that is continuous with the dorsal
mesentery of the mid- and hindguts. Thus, a primitive mesenteryextends from the
septum transversum tothe developing cloaca.The liver and ventral pancreas (uncinate
process) develop from the ventral aspect of the foregut and grow into the
septumtransversum, thus forming a ventral mesentery, the ventral mesogastrium. As
the embryonic period continues the growth of the two “borders” becomes notably
altered and the curvature of the stomach becomes apparent. The distal end rotates
ventrally and with the increased growth of the dorsal border the concavity of the lesser
curvature becomes apparent. With further increasing growth of the entire gut and the
return of the gut to the abdominal cavity the stomach becomes rotated along its
cranial-caudal plane so that the “stomach sac” rotates and the original right surface
becomes dorsal and the left ventral. The position of the dorsal and ventral
mesogastrium 1s affected by the rotation. As the dorsal mesogastrium becomes
increased in length, it folds upon itself forming the lesser omentum. This lies
transverse rather than anteroposterior and leads to the formation of the lesser sac.

Which statement according to the first paragraph, is True?

1) The primitive foregutdifferentiates into aorta.

2) The midline tube is located on the dorsal aspect of the aorta.

3) The pericardium and stomach develop during the first month.

4) The transverse septum separates the stomach from the primitive foregut.
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24-

25-

The pleuroperitoneal canals have relations or connections with all of the following
structures EXCEPT---------- s

1) the septum transversum 2) the dorsal wall of the body
3) the ventral wall of the body 4) the foregut or stomach

Which of the following organs is the organs belonging to the hindgut?

1) The stomach and the liver 2) The liver and the pancreas

3) The intestines and the cloaca 4) The heart and its pericardium
The ventral mesogastrium is being developed by---------- ’

1) theventral mesentery

2) the septum transversum

3) growing the foregut into the uncinate process

4) protrusion of the uncinate process intothe septum transversum

Which of the following is directly involved in the formation of the lesser omentum?
1) The dorsal mesogastrium

2) The distal end of the foregut

3) The dorsal and ventral mesogastrium

4) The ventral border of the primary stomach

PASSAGE 3:

One of the major problems with studying the mechanisms of transport across the gills
is that i1t is a very complicated epithelium, not amenable to the classic Ussing chamber

approach, which was proving so important to studying the mechanisms of Na™
transport across the toad skin and bladder. Also this technigue is used to measure the
short-circuit current as an indicator of net ion transport taking place across an
epithelium.

It was shown that the epithelium lining the inner surface of the gill cover or
operculum of some species of teleosts such as the euryhaline killifish as the prime
example contains high concentrations (60% vs. 10% in branchial epithelium) of
chloride cells. When mounted in an Ussing chamber, the opercular epithelium
produced a short-circuit current that could be entirely accounted for by the net

radioisotopic Cl  efflux. Further work demonstrated that ClI extrusion was
dependent upon oxygenation and serosal CI”~ and Na® concentrations but inhibited
by serosal ouabain, an inhibitor of Na*- K- activated ATPase, as well as furosemide
as a Cl  transport inhibitor in the mammalian kidney. A study has shown that injected
ouabain inhibited both CI”~ and Na™ radioisotopic effluxes across the gill, and
suggested that the mechanism for CI” extrusion might be a coupled Na® +CI~
cotransport, similar to a variety of other epithelial tissues. There 1s a definitive proof
that the chloride cells are the site of the ClI  extrusion and currents when a microprobe

was placed over chloride cells in the opercular skin of tilapia. which has high
concentrations of these cells.
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The phrase «this techniques in the first paragraph, refers to;
1) Microprobe placement

2) Radioisotopic effluxes

3) Serosal ouabain injection
4) Ussing chamber approach
All of the following functions are related to the Ussing chamber EXCEPT;
1) Inhibition activity for ion concentrations

2) Measurement of the short-circuit current

3) Acting as an indicator for net ion transport

4) Involving in mechanisms of Na™ transport

The most concentrations of chloride cells can be detected in---------- 4
1) on the superficial side of the operculum in teleosts

2) the inner epithelium of the operculum in some teleosts

3) epithelium lining of the surface of the gill cover in teleosts

4) on the superficial side of the gill in euryhaline killifish

According to the text, which statement is NOT matched with the characteristics of Cl™

extrusion?

1) Serosal ouabain has an inhibitory effect on it

2) Tt Is considered as a coupled Na*™ CI” cotransport

3) It is motivated by and serosal C1~ and Na™* concentrations

4) Tt can be inhibited by C1~ and Na™ radioisotopic effluxe
Which of the following terms best match with the principal concept of the text?

1) Gill salt secretion

3) Branchial epithelium
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